Percent Yield and Stoichiometry #2


Name ________________________
__________ 1. A piece of copper II with a mass of 5.00 g is placed in a solution of silver I nitrate containing excess AgNO3.  The silver metal produced has a mass of 15.2 g.  What is the percent yield for this reaction?

Eqn:

Circle what converting to.

Mass to Mass Calc












=

% yield Eqn

__________ 2. Determine the percent yield for the reaction between 2.80 g Al(NO3)3 and excess NaOH if 0.966 g Al(OH)3 is recovered.

Eqn:

Circle what converting to.

Mass to Mass Calc












=

% yield Eqn

__________ 3. When 320 g octane, (C8H18) is burned in oxygen, 392 g of water is recovered.  What is the percent yield of the experiment?

Eqn:

Circle what converting to.

Mass to Mass Calc












=

% yield Eqn

__________ 4. A student places an iron nail with a mass of 2.32 g into a flask of CuSO4.  the nail reacts completely, leaving a quantity of copper metal in the bottom of the flask.  The student finds the mass of the recovered copper to be 2.51 g.  (assume Iron II) What is the percent yield?

__________ 5. Chlorobenzene (C6H5Cl) is used in the production of many important chemicals such as aspirin, dyes, and disinfectants.  One method of preparing chlorobenzene is the reaction between benzene (C6H6)  and chlorine, represented by the equation:
C6H6  +  Cl2  →  C6H5Cl  +  HCl.
When 36.8 g of benzene reacts with excess chlorine gas, the actual yield is 38.8 g.  What is the percent yield of chlorobenzene?

__________ 6. Aluminum reacts with excess copper II sulfate according to the equation given below.  If 1.85 g of aluminum reacts and the percent yield of copper II metal is 56.6%, what is the mass of the copper produced in the lab?

__________ 7. The Ostwald Process for producing nitric acid from ammonia consists of the following steps:

4 NH3  +  5 O2  →  4 NO + 6 H2O

2 NO  +  O2  →  2 NO2
3 NO2  +  H2O  →  2 HNO3  +  NO

If the yield in each step is 80 %, how many grams of nitric acid can be produced from 750 g of ammonia?

__________ 8. A 5.0 g zinc ore sample that is 85 % pure reacts with excess hydrochloric acid.  What is the volume of the hydrogen gas produced at STP?
